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replacement of test booklet and OMR answer sheet.
No claim / objection in this regard will be entertained
after five minutes of start of examination. Candidate will
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. Answer all questions.

. All questions carry equal marks.

.- Only one answer is to be given for each question.

.. If more than one answers are marked, it would be
treated as wrong answer.

.. Each question has four alternative responses

marked serially as (A), (B}, (C), (D). You have to
darken only one circle or bubble indicating the
correct answer on the Answer Sheet using BLUE
BALL POINT PEN.
1/3 part of the mark(s) of each question will be
deducted for each wrong answer. (A wrong answer
means an incorrect answer or:more than one
answers for any question).

..~ Use of Mobile Phone/Bluetooth Devices or any other
electronic gadget in the examination hall is strictly

prohibited. If any such prohibited material found
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printing or factual nature in Hindi and English Version
of the question, the English Version will be treated
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Warning : if a candidate is found copying or if any
unauthorized material is found in his/her possession,
F.LR. would be lodged against him/her in the Police
Station and he/she would liable to be prosecuted under
Section 3 of the State Prevention of Unfair means
Act, 1992 and Board Regulations. Board may also debar
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In whose memory is the Tilwara cattle
fair held ?

(A) Ramdevji (B) Tejaji

(C) Gogaji (D) Mallinathji
fredt wft ¥ Rieer oy ¥ oM
B B 7
(A) TR
(C) TirTSit

(B) TSl
(D) afterersh

'Paryushan Parv'
religion ?

(A) Buddhism (B) Hinduism
(C) Sikhism (D) Jainism
Ty v R od ¥ wfud ¥
@) ¥ w- B) g W
(€ ferg et (D) 97 i

Where is the Banganga Ka Mela held ?
(A) Jaipur district o

(B) Alwar district ‘j,'u,tl.?lt
(C) Sawai Madhopur district

(D) Tonk district

SIETT BT Al wE W ¥ ?

(A) SEgT R

(B)' rat e

(C) warg =religx fem

(D) & fem '

Which one of the following district in

Rajasthan stands first in terms of dairy
milk collection ?

(A) Alwar (B) Bikaner

(C) Iaipur (D) Bharatpur
iR & & ToTIT US9 @7 BT UE
e 33t gy doe ¥ wUH HH U ¥ 7

(A) ST (B) StemMY
" (C) SAxR (D) WX
INDIRESULTH

is related to which ,

.

(A) 20%

@ INDIRESULTE
Which one of the following grass is best
fodder for dairy cattle in Western
Rajasthan ?

(A) Seven (B) Dhaman

(C) Khus-Khus (D) Doob

gl Tea ¥ que ageit % R

Tt & @ S o T gddss X 7

(A) Fau

, (B) ™o
(C) Tg-—TH

D) @®

Select the incorrect pair -
Present Name Ancient Name

(A) Ganganagar  Yoddheye

(B) Udaipur Shivi

(C) Jalore ~ Swarangiri

(D) Bharatpur Virat '

gl o @ B -

TAE A RN AW

(A) TR PO

(B) s&agY farfa

(C) Wt R

(D) 9XgT fauz

Seetamata Sanctuary in Rajasthan is
~ famous for -

(A) Black Deer (B) Flying Squirrel
(C) Crane (D) Lion :
oA # W ey yirg ¥ -
A) 7 B % fig

(B) w57 fmed % fag

(©) ¥E & fog

(D) X % fog

indiresult.in whatsapp - 9352018749

According to the forest policy, how much

- percentage of area should come under

forest ?

a1 Aifg & ogEr feawr g & e
¥ s o Wiy ?

(B) 33%

(©) 25% (D) 15%
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Which of the following text wasn't
composed by Kumbha ?

(A) Sangeet Raj
(B) Sangeet Mimansa
(C) Raj Vallabh
(D) Rasik Priya

Frefafeq 4 @ dF-w T 0 g

o 7= e
(A) E Tt
(B) @i Hmiar
(C) T www

(D) s

Who among the following provided
leadership to the Bhil Movement in
Dungarpur and Banswara ?

(A) Damodar Das Rathi

(B) Swami Govind Giri

(C) Arjunlal Sethi

(D) Jamnalal Bajaj

Prefefiaa & & fret Sy e st
¥ i e @ Y R 7

(A) THET | WS

B) @r e fiflk

(©) wgTam ¥t

(D) STHATAE AT

Who was the founder of "Harauti Seva

_ Sangh" ?

(A} Nainu Ram Sharma

(B) Abhinna Hari

(C) Vijay Singh Pathik

(D) Rishidutt Mehta

TR el §Y T AT a?ﬁ' ar ?
(A) e ot

(B) af= &0

(C) Taomafs ufyrs

a1 FHHNDIRE SUTH

018 (1ST PAPER)
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it . performed by women ?

Ff// INDIRESULTE
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On whose proposal was 'Matsya Sangh'

« given its name ?

(A) Sardar Patel

(B) Heeralal Shastri

(©) K. M. Munshi

(D) Jamnalal Bajaj

forees WA X e WY A T T ?
(A) 9ER T

(B) ruwme e

(C) %. wa. g

(D) SHTEd SISt

Which one of the following text gives
information about the struggle between

i r the ruler of Jalore and Alauddin Khilji ?

(A) Padmavat

(B) Dalpatvilas

(C) Kanhadde Prabandh
(D) Hamir Hath

IR & ITEe T TS el & a9
oY # weera e ¥ ¥ e oy @
< S ¥ 7

(A) FEHTEd

(B) gaqaiara

(C) wrese ey

(D) TR %3

indiresult.in whatsapp - 9352018749
Which one of the following dance is

(A) Gair Dance

(B) Chang

(C) Kacchi Ghodi

(D) Chari Dance

Prerfifam ¥ ¥ B T ARws T
forar smar %7

&) T 7

(B) 9

(©) == G

(D) =t =

[PTO.
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15  Who is the founder of the Bishnoi sect ?
(A) Dhannaji (B) Jambhoji
(©) Tejaji - (D) Ramdevji
9% Ter ¥ Wuws e ¥ 7
(A) "=l - (B) wIisH
(C) TSy (D) TSt

16 What was the period of Eleventh Five
Year Plan of India ?
AR % AREd deedt A @) ety
/g 7
(A) 2007-2012 (B) 2008-2013
(C) 2006-2011 (D) 2009-2014

17 In which of the following district of
Rajasthan the "Anas dam" project will be
constructed ?
(A) Tonk (B) Banswara
(C) Dungarpur (D) Bhilwara -
e § | v & B e A o
iy’ g @ e fem wmom 2
(A) 3% (B) sigamsT
(€) ¥yt (D) ¥reraret

18 "Operation Swarn" which was announced
in December, 2017 is related to which of
the following sectors ?
(A) Railway (B) Electricity
(C) Mining (D) Movie .
“oiateE @l frme dHiwon R,
2017 % o1 T, W ey e A Rew
a1 | %7 '
(A) W (B) foga
©) ' (D) faeq

.19  Umar Farooq Mewati of Rajasthan was
associated with which sector ?
(A) Environment (B) Music
(C) Sports (D) Medical Science
TSR & AT HI6% HAw! B T+ fopg
& | ar?

 (A) TgrERer (B) @&

©) B (D) fafrear fasm

a1 PP (FYINDIRESULTE

20

23

(A) 2016

6{’9 INDIRESULTE
National policy on Biofuel is related to

which of the following chemical ?

(A) Ethanol ~ (B) Methanol

(C) Propanol (D) Butanol

WY 3ET 9T TN Wy w1 ey R

49 fom W @ ¥7

(A) udta (B) themta

(C) e (D) AT

_ Pradhanmantri Vay Vandan Yojana was
- started in which of the following year ?

YU 99 g AT @l oMy P
¥ g 5 a9 fpar wm an?
(B) 2017

(C) 2014 (D) 2015

'Heritage week 2017' was organised in °
which of the following city of Rajasthan ?
(A) Jodhpur (B) Ajmer

(C) Jaipur (D) Bharatpur

B e 2017 &1 G TSI F
fe= 4 | frg oY ¥ fewr o ?

(A) STUg (B) SISMT
(€) sayY (D) 9t@gY

'Surya-Kiran' is army exercise of Indian
Army with which of the following
country ? :

(A) China (B) Sri Lanka

(C) Nepal (D) Bangladesh
Fh-feror ardig & @ P A § e
A % Ty fem W™ 9 gera ¥7
(A) 9 (B) Hreiar

(C) AuE (D) SRy
indiresult.in whatsapp - 9352018749
In Rajasthan, which of the following is

~ the most recent phase of 'Mukhyamantri

Jal Swavlamban Abhiyan' ?

(A) First (B) Second

(C) Third (D) Fourth

TS 9 et & | - wwor ‘gerw=h
g7

(A) 999

(©) T

(B) f&am
(D) =g
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Who was the Governor of Karnataka
during Karnataka assembly elections -
2018 ?

(A) Ganpat Vasava

(B) Mangubhai Patel

(C) Vajubhai Vala

(D) Konijeti Rosaiah

e fqaFEr ghE ~ 2018 & <R
HEE & TOIUE B e‘t ?

(A) U9 IHTET
(B) T wed
(C) avpAg Tt
(D) BT T

5

26  According to census 2011, the following

 districts of Rajasthan has high literacy
rate. Identify the correct order of districts
with literacy rate in descending order.
(A) Sikar, Jaipur, Jhunjhunu, Alwar, Kota
(B) Kota, Jaipur, Jhunjhunu, Sikar, Alwar
(C) Alwar, Jhunjhunu, Sikar, Jaipur, Kota
(D) Jaipur, Kota, Alwar, Sikar, Jhunjhunu
TEET 2011 % SHER (AN %

. Freafafaa el & wmerar <X waitys g
¥ ¥ | Bl @ S § W weRar =
% @ o ¥ e @R -
(A) X, FEgR, P, @A, B
(B) @1, SOYR, P, Y, Sr@ay
(C) o, g, WY, TR, He
(D) SUYX, B, @A, WHl, YFL

Identify the correct order -

(A) Bisalpur Dam - Banas river

(B) Meja Dam - Khari river

(C) Sidhmukh Canal - Yamuna tiver
(D) Pong Dam - Chambal river

w8 w9 g -

(A) dEAR qfY - T =rq°f

(B) #sT §1g - @l AR

(C) fhegy 7ex — g &

(D) T *sﬁ.'a — TS T8

a) ?@lNDlREsuua
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Maximum areas of 5011 erosion in
Rajasthan is found at -

(A) Sriganganagar

(B) Hadoti Plateau

(C) Dungarpur

(D) Sirohi

TR § RrEl eTRes @t waitie & aE
AT T —

(A) SRR A

(B) TR UeX H

(C) IR #
(D) & =

The 'doab plain' of Ghaggar in
Hanumangarh and Sriganganagar districts
of Rajasthan is formed by which of the
two rivers deposition ?

(A) Banas and Banganga rivers

(B) Ghaggar and Sutlej rivers

(C) Jawai and Sukri rivers

(D) Ghaggar and Beas rivers

UL HONOTE G T U &
TS 9 g Rl ® o s

%, o Prefefen fe @ ARl & Femm

g gy
(A)Weﬂ*{m?ﬁ:&rm
(B) =Y &R gaew Al &

(C) v ik g@el HiEl T

(D) TrEY o =g Al F
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Mark the correct match -

(A) Khetri - Singhana - Copper

(B) Rajpura - Dariba - Gold

(C) Jhamra - Kotara - Iron ore

(D) Dabala - Singhana - Baryte

wdl e w fufsa @l -

(A) gagr - fiEmr - df

(B) TSYU — FO&T -

(C) T — BT — R IS

(D) srEen — Ty - dUEe

. [PTO.
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The largest ,producers of mustard in
Rajasthan are :
(A) Kota, Jaipur, Dholpur

(B) Sriganganagar, Alwar, Bharatpur

(C) Tonk, Bundi, Jalore

(D) Ajmer, Pali, Dausa

TR WY % FI 9 I ¥
(A) ®rT, FEAYL, HWgT

(B) SR, S@ay, WIAYX

(€) 2w, &, SR

(D) ST, qrell, <

As per the study conducted by the Central
Institute of Fisheries Education, Mumbai
(2010),
Rajasthan annually is :

(A) 50,000 metric tonnes 4

{(B) More than 80,000 metric tonnes
(C) 20,000 metric tonnes

(D) 70,000 metric tonnes

B vege e wam, =g ¥ g
[T Q. aTemET (2010) % STER TR
4 g IR H aifie ewar ¥ o
(A) 50,000 B =

(B) 80,000 #fes = q aifte

(C) 20,000 Afgw =

(D) 70,000 #fzw =7

The joint multi-purpose river valley project
of Madhya Pradesh and Rajasthan is -

(A) Bhakra Nagal (B) Chambal

(C) Beas (D) Mahi

T YRN 9 TS @ Ugw ggeedE
& = ufEeer ¥ -

(A) YrEeT A (B) O

(€) =g (D) =&

i1 GP(FYINDIRESULTE

fish production potential of

4

Lo
h
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As per the report of Forest Survey of
India, Rajasthan registered an increase of
forest cover during biennial assessment
period between 2013-15

(A) 100 sq. km (B) 85 sq. km
(©) 150 sq. km (D) 500 sq. km
W T gl @ Rl § oemEmw,
feanita yeaiet sraftr 2013-15 % v %
T & ¥ gfe oot @

(A) 100 enf e, o

(B) 85 aﬁ e, @

(C) 15077t foply. &

TMER

- (D) 500-9 Tt &)

A;ravaih Afforestanon Project (AAP) was
started in

TR T vﬁaﬁm AT W/ TR
(A) 1995-96 (B) 2001-02
(C) 1992-93 (D) 2007

What 1s the amount of award for the State
Award winner of handicraft/art awarded
by Govt. of Rajasthan ?

TN §{ &I Sliiea/aer & a??a |
4 g wrl QTR oo ® feat il
& grEnTT fer wmr ¥ 7

(A) T 5,000 (B) T 25,000

(C) T 50,000 (D) T 20,000
indiresult.in whatsapp - 9352018749

Which scheme provides multi brand
quality consumer goods to the consumers
of rural areas in Rajasthan ?

(A) Bhamashah Yojana

(B) Atal Pension Yojana

(C) Annapurna Bhandar Yojana

(D) Bhamashah Swasthaya Bima Yojana

(A) HHIINE AT

(B) ored YIM g

(C) &gl WS G
(D) swsrr% Wrey d\1. qeT

[PT.O.
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In which district of Rajasthan cutting and
polishing units of granite are found ?

(A) Chittorgarh  (B) Udaipur

(C) Jodhpur (D) Alk of these
B W wmeRE T WiARE @ g@Eal
e % few fw A ug ar ¥ 7
(A) RrdeTe (B) sugt

(C) ey (D) ¥ wh

What is the main source. of energy in
Rajasthan ? b

(A) Wind energy
(B) Atomic energy
(C) Hydro electricity
(D) Thermal power i
umwmﬁ«h\mwgﬁ@rﬁﬁw% ?
(A) g Bt (B) oR] Tl

(C) v faega (D) arciizr qTRR

Rajasthan is under s_;gjces shared
ownership ?

{A) Mahi project

(B) Suratgarh project

(C) Chhabra project

(D) Satpura project

e )

WW@WTW%H@WW?&% ?
(A) T8 afs

In which district of Rajasthan is the
Khushkhera Industrial Aréa located ?
(A) Ajmer (B) Bikaner

(C) Alwar - (D) Jaipur

gyrasT olEfie & W %5 frm ot
¥ fm ¥ 7

3

Fabsk

(% NDIRESULTE

YOUR SUCCESS PARTHNER

In which mdustry ajasthan sodium
sulphide is used as raw material ?

(A) Jute industry

(B) Cotton textile industry

(C) Sugar industry

(D) Leather industry

TSR & e Sar o Wifeaq TehEs &
SUEM we U % ®9 W T e ¥ ?
(A) 9 TR (B) il FE e
(C) 91 Jam (D) ¥Wel TEMm

What is the share of Government of India
and Government of Rajasthan in the
funding pattern ratio of National Food
Security Mission since 2015-16 ?

a9 2015-16 § T @ gran fee &
g aryer Yo A i T i W

R AW & 7
(A) 60 : 40 (B) 50 : 50
(C) 70 : 30 (D) 80 : 20

"Aapni Yojana Aapﬁo Vikas" is

(A) A scheme for the road construction

(B) Specific guidelines for preparation of

Gram Panchayat Development plans
and their effective implementation

(C) Rural development scheme for
employment generation

(D) Scheme for developing the backward
areas in the State

¥ | indiresult.in whatsapp - 9352018749
(A) s Tl g g
B) W vawa faem deEr % Faio o
AT R o fo fefiree ARt
(C) o weet ¥ fow amlr R
TTAT

. (A) STITT (B)Wﬁ'( D) g ¥ fee &= & Refaa o0 &
J‘ (C) et (D) sUgY | foo O
@INDIRESULTE
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W wefem

- (B) Umed Bhawan Palace

W (] ]
(B) S9g W U@y T
(C) aftwm Yog
(D) "t ey

indiresult.in whatsapp - 9352018749
According to the recommendations of | 8

Fifth State Finance Commission of
Rajasthan per cent of total
State's net own tax revenue has to be
released to rural and urban local bodies.

ST % Ured oy oy o &) Ryt
% ITER T % WH & IS BT T B
— vt T @ e el
wsﬁwﬁaﬁmaﬁm%z

(A) 7.182

(B) 8.182

(©) 10

(D) 12

'Sculpture Park' is situated in which of the
following Palaces in Rajasthan ?
(A) Jal Mahal Palace

(C) Sariska Palace

(D) Madhvendra Palace

T o @t o P ¥ ¥ g
o X Rea &7

Name 'Deepak Chahar' is related to which
of the following sport ?

(A) Boxing :

(B) Hockey

(C) Cricket

(D) Football

Aup TR AW gy e § @r B

(A) SR
(B) ®at

(C) fenche
(D) pr

n P 6INP,LB§§9!.-,T,E ;

48
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Polavaram Dam 1S situated in which of
the following States of India ?

(A) Tamil Nadu
(B) Kerala

(C) Karnataka

(D) Andhra Pradesh

e 3 e 4§ few adg ww
A Rag ¥ ?

(A) TRy

(B) &

(C) wAileH

(D) o= Wyl

Chandrabhaga Beach is located in which
state of India ? {

(A) Odisha
(B) Maharashtra
(C) Puducherry
(D) Kerala

| www%%%mﬁm

? 7

(A) enfesm

(B) weTUSE

©) wEd
(D) T

Who is the writer of book - "Judicial ;
Reforms : Recent Global Trends" ? s

- (A) Margret Alwa

(B) Gulab Kothari
(C) Dalveer Bhandari
(D) Raghuraj Singh
- ‘wgfsfirgm frerdg : Rl wEa
YeH % qAuH BN ?
(A) wrfte ormeer
(B) e ieTd
(C) TR WueTd
(D) g Rz
indiresult.in whatsapp - 9352018749
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A cube of side 24 cm is cut into 27
smaller uniform cubes, then the surface
area of each smaller cube is

(A) 512 cm? (B) 216 cm?

(C) 384 cm? (D) 864 cm?

24 ¥ T % U o9 W 27 THEEE |-

B T ¥ P TG ¥ 99 IS Bl U9
H YO FAFA T -
(A) 512 @92 © (B) 216 A2

 (C) 384 g2 (D) 864 d=2

A circular flower park is surrounded by
a 4 meter wide path. The diameter of the
flower park is 68 meter then the area of
the path is

(A) 288w sq m (B) 36k sq m
(C) 400 sqm (D) 1137 sq m
Tk JABR FE B g 9 avs q
4 A 99 w9 ¥ B ogem ¥ 1k g«
& i &1 =" 68 Wt € 99 Uy @
ATET T — :

(A) 2887 T W (B) 361 4 W
(© 400t & (D) 1137 =t A

The coordinates of the reflection of the
point (3, 4) in the line y = ~1 is

g G )& @ y=-1¥ gl &
st ¥ -

@A) G, 4 B) 3, 4

©) 3, -6) ®) G, -6)

HELP is a parallelogram. Given that
OE = 4 cm and HL is 5 cm more than
- PE, then OH is —

HELP us @i agyst ¥ | fean mn @
f6 OE = 4 ¥t g HL, PE ¥ 5 99
HET T W OHE —

~N

1
\
/// O

H -
(A) 5cm /@ (B) 6.5 cm / ¥H
(C) 9cm /¥ (D) 13 cm / ¥

YOUR SUCCESS PARTHNER
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A shopkeeper allows a discount of 15%
on the marked price. How much above
the cost price must he mark his goods to
make a profit of 19%.2

Th GHMER Sifa qed T 15% Be
T 119% @9 uid & ¥ g I8 e

A 9T 39 59 § TohaT SuX gifha T
g ?
(A) 34% B) 38%

(©) 40% (D) 42%

There is 80% increase in an amount in
8 years at simple interest. What will be
the compound interest of ¥ 14,000 after
3 years at the same interest rate per
annum compounded annually ?

X @ d PR wm F 8 ad ¥ 80%
ghg e ¥ 1T 14,000 %1 3 99 918 g9H

qfqay ghghs M X W Whaks W

R ?
(A) T 4612 (B) T 4634

. (C) T 3714 (D) T 3794

A, B and C started a business in
partnership in ratic 105 : 40 : 36. After
6 months B increases his share by 20%.
If the total profit at the end of one year

_be g 1,85,000, then C's share in the profit

IS : jndiresult.in whatsapp - 9352018749
A, BTuT C 105 : 40 : 36 STUTT § |ISETH

¥ ANR 9 %0 ¥ | 6 " 9% B

20% Rl o ¥ 1 AR a¥ &

o ¥ W @ T 1,85,000 ¥, T @

¥ C @ femm ¥

(A) T 36,000  (B) T 36,700

(C) T 36,795 (D) T 36,800

[P.T.O.
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a-b

+b

58  The mean proportion between and

@A) ’a+b

a+b
ab

©)

If logy y = x and logy z ='5c, then 72%
is equal to -

59

ﬂ%logg,y-—x?fmlcgzz*xﬁ'ér 72*
TR & -~

&) yz
©) 273

(B) 272
(D) 3,2

60  The height of a right circular cylinder is

24 cm and the radius of a hemisphere is
4 cm. If the volume of right circular
cylinder and hemisphere are equal, then
the radius of right circular cylinder will
be =

2
(A) 3 2 cm

4
(B)3cm
©) —3% cm D) -gfw/f em
wﬁaﬁa%ma‘?r%?ré%ﬁam
Freier @1 B 4 99 ¥ 1 Al degdm
IO 9 FEN BT SR HE B A
Wegd qe B B B -

9 4
(A)-3-w/5@rs?r ®) 5

2
(©) -—ﬁm

'fj

4
(D) -3-45 Y

INDIRESULTH
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61

62

63

cone is 2826 m

N (C) 15000 freT

(A) 65 m? (B) 60 m?

(C) 18 m? (D) 32.5 m?
ST &1 %1 T T 5 Rt
13 91 %, o Saer a9ed ¥ -
- (A) 65 H12 (B) 60 #Hi2

(C) 18 %2 (D) 32.5 #1?
indiresult.in whatsapp - 9352018749
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The area of the base of a right circular

2 and its height is

4 m then its curved surface area is-
(Use T = 3.14)

A) 40m? (B) 45.10m"

€) 47.10m* (D) 47.14m>

TF W9 gAg 9P B STHR & ATwA
28.26 {12 qa 3T Hurg 4 W ¥ a9 TH@H
o I T - (= 3.14 SR
(A) 40 2 (B) 45.10 #2
(C) 47.10 2 (D) 47.14 W2

How many liters of water can be filled
in a cuboidal water tank 2 m long, 5 m
wide and 1.5 m deep ?

(A) 150 liters (B) 1500 liters

(C) 15000 liters (D) 15 liters

TF TR ¥ W 5 2 W w5 o
et qur 1.5 @ Tew & we P R
Ul WXT O Hehel ¥ 7 |

(A) 150 ferex (B) 1500 ferex

(D) 15 foer

One side of a rectangular field is 5 m and
its diagonal is 13 m, then the area of the
field is —

[ P.T.O.
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- 64

65

66

(B) APQR ~ AABC

‘indiresult.in whatsapp - 9352018749

Distance between the points (3, 6) and
0, 0) is — :

(A) f46 units (B) 5 units

© J§_§ units (D) 3J§ units
fargalt (3, 6) aur (0, 0) % wem g - |
4) Ja6 THE  B®) S TE
©) 35 @E (D) 3.5 R

If in two AA4BC

AB BC C4

OR PR PO’
following is true ?
gt & B A4BC @ APQR ¥,
AB BC CA

OR PR PO’
Y7

(A) APOR ~ ACAB

| and APQR;

then which of the

aaﬁwﬁ'@r%m-m

(C) ACBA ~ APQR
(D) ABCA~ APQR

In figure, if ZABC =65° and
ZACB=35° then /BDC is - |

3T ®, AE  LABC =65°
ZACB=35°, 98 /BDC ¥ —

aqt

D

(A) 100°
©) 25°

(B) 80°
(D) 55°

67

68

69

70

a) “@’G”gmp!ﬁgsugﬁ n

-2018 (1ST PAPER)
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The angle between the 1sectors of two
adjacent supplementary angles is —

(A) Acute angle (B). Obtuse angle
(C) Right angle (D) Straight angle
3 o W wE % ordwt ¥ o
BT AT ¥ -
(A) T BT
(C) TH®

(B) ifrw Hw
(D) 5 @

Which single discount is equivalent to
two successive discount of 10% and
30%?

10 wige Tar 30 wiig| & A HAOE
we fre o g % ATEC ¥ 7

(A) 40% B) 35%

(D) 38%

: : 1
Simple interest on ¥ 24,000 at 8=

2% per

annum for 8 months is -

%2400035: g§— %aﬁmma&a@r

8 W B/ A &N T -
(A) T 1560 B) T 1620
(C) T 1480 (D) T 1360

Suresh and Mahesh started a business by
investing ¥ 1,15,000 and X 1,85,000
respectively. Out of a total profit of
T 18,000 Mahesh's share is -

TS T WA ¥ FAw T 1,15,000 @
T 1,85,000 TEIY T TH QL AN
fépar| T 18,000 % P& WIN H ¥ wA H
39T T -
(A) T 6,900
(C) T 11,100

(B) T 9,000
(D) T 11,500

[PT.O.
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o

R

e

1 YA
g 600 4
% 5004
B30l .
-§ ' @ £ E S
3 200 . ° < i E
® 100 EE E% 2
9 S Faculty / derg —> X,
(A) 1000 (B) 1250
() 1800 (D) 500
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71  If the following bar graph represent the
number of students enrolled in different
facultles in a college, then what is total

; nurgher of students enrolled in the
college ?

s Frefifen s ate T TR
¥ Rl wer % amifea R @

e @ yeifa Far ¥ O wefiawe o

72 A pole of 24 m height which cast the
shadow of length 83 m. The angle of

o

ion of the sun is -

T G 24 W SO @& ¥ R man
843 W, ot ¥ | qd = S @
(B) 45°

eleya

(A) 30°
* (C) 60° (D) 90°

@lNDlRESULTE
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74
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In the given figure ABCD is a cyclic
quadrilateral, if £ 40OC =130°, then

£ ABC is -

g T i ¥ ABCD us w@m =g
%, A £ 40C =130°, @ £ 4BC ¥ -

. ®B) 65°
(D) 60°

(A) 1150
(C) 50°

The score of a batsman in 10 innings are ;
38, 70, 48, 34, 42, 55, 63, 46, 54, 44. {
What is the mean deviation about the
median ?

Th JeET TR 10 qidl @ @it 39
THR ¥ : 38, 70, 48, 34, 42, 55, 63, 46,
54, 44. Tttmer § 39T Arew feraee WM
T 7 |
(A) 86

(C) 584

(B) 86
(D) 64
indiresult.in whatsapp - 9352018749
| [PT.O.

LDC EXAM 19-08-201¢




#

indiresult.in whatsapp - 9352018749

75  Following is the distribution of earnings
of 200 workers in a flour mill :

M 11’ V. N
ONRYY WABES | 804100 | 100-120 | 120-140 | 140-160 | 160-180

{In Rupees) sk

No. of workers 20 30 20 40 90

The average earnings of the workers s -

(A) T 145 (B) X 150
(€) T 155 (D) T 160 :
mﬁﬁﬁmoaﬁm‘raﬁmwﬁm
frafafas & :

?ET;?@ 80-100 | 100120 | 120-140 | 140-160 160180

TG B W | 20 30 20 40 90
gl @ offed o ¥ -
(A) X 145 (B) X 150
€)% 155 (D) X 160

76 The mean of 10 observations is 16.-On
checking it was found that 2 observations
were wrongly copied as 4 and 6 in place
of 8 and 7. The correct mean is - .
10 Y&t 1 "1e 16 ¥ | Sitg B0 T AW
§6ﬂﬁ5ﬁ§rmsa7€5ww4g<6
IR IR TR -0 B o B e o B
(A) 155 (B) 16
(€) 16,5 D) 17

77 The angle of depression of two ships from

the top of light house situated at 60.-m
height from sea level, are 30° and 45°.
If two ships are on the same side of the
light house, then the distance between
two ships is -

quEad ¥ 60 W é&wm%ﬁm
%3’@9{“% Wlél\m aS\‘HCMH"lWT3O°

& ol B, o e % W A G
@) (60+3) m/.
(B) 603 m/.

(© 60(+3-1) m/wH.

(D) 60(v3 +1) m/.

OINDIRESU TE
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(©) 90°
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If p=sinf +cos@ and

\ , 2 :
g = sec @ + cosec 6, then C[(p “3) is -
afe p=sinB + cosf TAUT

g =secl + cosec §, TF Cf(pz 1) Gill

¥ & -
A p (B) 2p
(O 3p (D) 4p

The angle in radians between the hands
of a clock at 7:20 PM. is -

S5n i ;
(A) = radians (B) — radians
7 <5
I S5 :
(C) = radians (D) —— radians
< 9 9
g 7 g9 20 P WX U w9l @ g3al
% A W A ww -
'(A)g;—t-%%w <B>~7§3%%a:r,-
(©) -?92 W (D) 39?- e

Ina A 4BC, D is the mid-point of side

1 : .
AC and BDZEAC, then £ ABC is -

e AABCﬁf,Dgx‘sTrA;C'éﬁT

1
Heafdg 3 Td BD=-AC, T8 LABC
lndlresult in whatsapp 9352018749

(A) 45° (B) 60°

(D) 120°

[PTO.
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©) 2 _20t+0?
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Two articles are sold at ¥ 500/- each, one
at a profit of 30% and another at a loss
of 30%. What is total gain or loss in
percent ? .

(A) gain, 1% B) loss, 1%

(C) gain, 9% (D) loss, 9%

a1 TGy R 500/- wfy 5 & Raw ¥ 3
Wil ¥ fed ue W 30% @ W e
TE{l 9T 30% Y T BN ¥ | P Prement |
feper wfrera @ oreram @i g 7
(A) @9, 1% B) T, 1%
(C) @™, 9% (D) =, 9%

If the cost price is 95% of the selling
price, then what is the profit percentage ?
afs %a ey, T g0 &1 95% a9 @
e ®T % 7

(A) 5% (B) 526%
(©) 9.5% (D) 10%;
7 : 12 is equivalent to
7:12@ag@ ¥
(A) 42 : 60 (B) 72 : 42
(C) 28 : 42 (D) 42 : 72
f log8 = x, then x is equal to -
log2
log 8 =x, 99 x TET ¥ -
log?2 |
(A) 2 B) 3
(€) 4 (D) 28

If the roots of a quadratic equation are |
(0. +B) and (o —B) then the quadratic
equation is —

aﬁ@maﬁw%%‘(a+ﬁ):
am (o —B) & o fama weleor & -

(A) 2 —(a+B)t+(a+B)0-P)=0
®) 2 +200+26=0 :
—B%=0

D) t2'+20ct+oc2+[32=0

) @’@mwﬁg@uuﬁ y

86

87

88

89

90

(A) 3144000
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The solution of the quations

3x—y+1 2x+y+2 3x+2py+1
3 s =B

is —

FHIB TN

3x—y+1 2x+y+2 3x+2y+1
3 ~ 5 6

H O E -

A x=-1=y @B x=lLy=-1

© x=-lLy=1 D) x=1=y

The value of X, if (x — i) is a factor of

polynomial 3x% +2x—K is -
K& a9 ¥, 3§ (x — 1), S50 [

3x% +2x— K 1 UF U@ ¥ -
(A) -5 B) 5
© 1 D) 0

The value of [(1786)% — (214)?] is -
[(1786)2 — (214)?] &T 7w § —
(B) 3414000

(C) 1572000 (D) 1527000

The square of 2112 is -

2112 %1 @f & -

(A) 4460504 (B) 4458544
(C) 4460544 (D) 4459544

A shot-put is a metallic sphere of diameter {
9.8 cm. If the density of the metal is
9.8 gram per cm?, the approximate mass
of the shot-put is

(A) 4225 grams (B) 493 grams

(C) 4831 grams (D) 4930 grams

T 9i2-9Z 9.8 AW =9 & W& g @
Wen ¥ 1 Ak 3@ g @ wa 9.8 UM
it F° ¥, @ 9eE-YT B/ AT gequH
¥ ~ indiresult.in whatsapp - 9352018749
(A) 4225 7™ (B) 493 1™
(C) 4831 7™ (D) 4930 7™

[PTO.
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If D(--l- 2], B(,3) and F(l -7-)
2°2 2'3

are the coordinates of the mid-points of

sides BC,CA and AB respectively of

AABC , then the coordinates of the vertex
C is - '
7 7
22

B AABC ® gl BC,CA o
AB @ wem figetl & frdums ¥, a9 ofd

15 |
afg D(—E -2-) E(7,3) @ F[—- -)

L C F TEus ¥ -

() (1, 4)
© G, 2)

B 4 3
D) 4 11)

n-coplanar straight lines meet at a point.
The angles between consecutive lines are

x°, 2x°,.....nx°. The value of n in order

that the minimum angle be 24°, is —

AM #-g9ad 9@ W@ @ g w
et ¥ | AP el & W S AW
®ior afg x°, 2x°,...0x° ¥ @ nw AH
amaﬁmarﬁszﬁ%%@aaﬁww

B —
(A) 3
© 5

(B) 4
(D) 6

By selling 45 apples for T 40, a person
loses 20%. How many apples he should

sell for ¥ 24 to gain 20% in the |

fransaction ?

40 39% ¥ 45 ¥ ¥ W UH AR B
20% T B ¥ 1 3H 24 TR X fe
9 999 TRy @i @ § 20% @ 8 ?
(A) 12 (B) 14
(©) 16 . (D) 18

-

w1 P @nprEsuE
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A man spends 80% of his inconie. His
income is increased by 20% and he
increases his expenditure by 10%. His
savings are increased by —

TP AR ST T B 80% = wIaT
T | SHS A 20% ¥ W ¥ qun ue
= F 10% % ghe a1 § | SUSH T9a
¥ ghg & -
(A) 20%
(C) 32%

(B) 30%
(D) 60%

Solution of the equation

4x+17 13x-2 +3c_=_7_agmx+16
18  17x-32 3 12 36

180~

SRS S

4x+17 %”wx 2 x_Tx xtl6

— T g |

18 17x- 32 3 12 36
w T ¥ -

(A) x=- B) x=4

1
© = ©®) x=-=

The factors of (x4 +9) are —
*+9) % e ¥ -

A) (x? +'3)‘2

B) x®+3)x*-3)

(Cj (x? +’ ﬁx +3)(x? —J6x+3)
indiresult.in whatsapp - 9352018749

D) (x% +3x+3)(x%? =3x +3)

[PT.O.
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97 If one root of equation

5x2 +13x+ k =0 is reciprocal of the
other root, then the value of k is -

aft THET Sx2 +13x+ k=0 B
A @ @ % gohy ¥, 99 k @1 WM
¥
(A) 0
©) 2

B) 1
D) 5

98 There are 2000 mice living in a field.

If 1000 mice are born each month and | -
200 mice die each month, what is the [
percentage growth rate of mlce over a |

month ? ‘
o @ ¥ 2000 T @ ¥ tqﬁuﬁr%
1000 ¥ ¥a1 B & e 200 R H Y
Bl W%wﬁ?@aﬁw&fsﬁ
ghg s w ¥ ?
(A) 20

(©) 30

' (B) 40
(D) 10

99  The algebraic sum of the deviations of a:

set of n values from their mean is -

n WA % QYT B ST Ared § fert
H ST O g ¥ -
(A) 0 B) n-1
© n @) n+1

100 The arithmetic mean of the following data
is -
& T wemed W owIRE e ¥ -
17, 41, 19, 45, 32, 19, 25, 22, 13, 32
(A) 32 . (B) 265
(C) 26.8 (D) 243

) PP NoIRESULTE
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101 Which of the following properties of light
~ is used in making a periscope ?
- (A) Refraction (B) Reflection |
(C) Dispersion (D) Polarization
frafeafaa & & ety @ sF-w fasiar
IRwT B g A W A W SR ?

(A) erere (B) wXrEdA
(C) aut-faguer (D) g

102 The angle between the incident ray and
the ray reflected from a plane mirror is
60°. Through what angle is the reflected
ray deviated with respect to the incident
ray ?

wmﬁamﬂr@wzﬁw@r

qRrafda fRLoT & weg @ B 600 ¥
gtrafda feTer st fater & we feg
B ¥ fafma gd ?

(A) 120° (B) 150°

(C) 90° (D) 60°

103 How many electrons are there in one

Coulomb of charge ?

o g oy ¥ R e an ¥

(A) 625%x10!% B 1.6x10?

© 1.0x10"° (D) 6.02 x 105
- indiresult.in whatsapp - 9352018749
104 An opaque membrane is formed on the

eye-lens, which adversely affects the
vision. This eye defect is known as -

(A) Presbyopia (B) Astigmation
(C) Cataract (D) Myopia

T T WX TH AurEs el s omh
T, o T gfe w gfga gvE swri 3
™ A W B ke T -

(A) e 3w (B) shedws
(C) Aiten frg (D) Tz e S

[PTO.
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- 105

106

107

Which of the following can form a virtual
image, which is always smaller than the
object ?

(A) a plane mirror

(B) a convex lens

(C) a concave lens

(D) a concave mirror

frfafea & 4 @@ s sl wfafrs
G B T B
(A) TF 99T U9

(B) T& wUw #W

(C) T o[Ead o9

(D) T orgaw 99

Electromotive force of a cell is -
(A) a force between the two terminals.

(B) a current flowing across the cell
plates.

(C) maximum voltage between the two
terminals in open circuit.

(D) voltage between the two terminals in
closed circuit.

fodl dw @& Rreaes @ -

(A)m%éﬁﬁzﬁha‘f%ﬁamw%u

(B)éaa?trﬁir%nw&s%aﬁﬁm
T

(C) @a uftay & ST <Rl & < &
Hftrpew et ¥ |

(D) ¥ ftwy ¥ et et & & A
dwedr ¥ |

The quantity of charge that will be
transferred by a current of 10 A flowing
over 1 hour, is -

10 QPgIX @ I P FU TH U A
T S WA ¥ -

(A) 10C (B) 3.6 x104C
©) 24x103C (D) 1.6 x102C

INDIRESULTE
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nnnnnnn

Figure shows three sxrmlar lamps Ll, Lz
- and L connected across a power supply.

If the lamp L, is fused, how will the light

emitted by L; and L, change ?

©

® ©

(A) No change

(B) Brilliance of L; decreases and that of
L, increases

(C) Brilliance of both L and L, decreases

(D) Brilliance of both L; and L, increases

AR R L, L, 9L, &

109

fadmdds WE sk sw L, g9
W ¥, Ly o L, % &1 Scisia Wbt
qT A GHE R 7

©

G ©

(A) #E e & |
(B) L, & Y&yt &M L, & w9 |
(C) L; 9 L, 3l &1 WISt 9T |
D) L, g L, A &1 9o WM |
The sun's diameter is 1.4 x 109 m and its
 distance from the earth is 10!!m. The
diameter of its image, formed by a convex
lens of focal length 2 m will be -
(A) 0.7cm (B) l4cm
(C) 2.8cm - (D) zero
qd & A 1.4 x 10° 9. oiv gwan g
T 1ol A 3 129 & www
% TH UM AW & T TN ™ 39S
wfifry @1 =@ B -
(A) 0.7 9. (B) 1.4 A .
(C) 2.8 A (D) =
|nd|result in whatsapp - 9352018749
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112

(C) Maxwell's cork screw rule

o5 s ® 7
(B) WRM @ I Ty @ Praw

‘(C)%ga%ﬁqﬁa’wwﬁ‘:

indiresult.in whatsapp - 9352018749

A fuse wire for household electric
connections supplying electricity upto
15 A maximum is made of :

{A) 37% lead and 63% tin

(B) 50% lead and 50% tin

(C) 63% lead and 37% tin

(i2) 100% copper

ot ¥ atfaad 15 A ura % fag frega
ferreor afgy ¥, wgwr a) @ dr ¥ -
(A) 37% 9|1 9 63% fe1 @

(B) 50% dr|r g 50% fet @

(C) 63% drar g 37% fe @t

(D) 100% TS @

Which of the following rules is used to
determine the direction of induced current
in a generator ?

(A) Fleming's left hand rule "‘*\lut' l
(B) Fleming's right hand rule

(D) Ampere's swimming rule

@aﬁaﬁﬁ&ama&%mmm
%mﬁmﬁmﬁﬁaﬁwmmw

(A) W @ 9 'Y @1 Pam

(C) AFqde &1 &% Yu Pram
(D) smiR. 1 q @ fram

Which of the following phenomena makes

use of electromagnetic induction ?

(A) Charging a storage battery -

(B) Magnetising an iron piece by a bar
magnet

(C) Transmission of electr1c1ty

(D) Magnetising a soft iron piece by |
placing it inside a current carrying
solenoid

Frefafaa & ¥ frw gemfed A &rga

TEHE AT BT ITE B ¥ 7

(A) daas 9 @& O HE N |

(B) Wit % Th THS I UH BS TaF & |

T geiEa & A |

(D) %= Wik % UH THS B U yawd
I & oRT TEHT geEied
Rasl

u1 PEEYNDIRESULTE 1

113 Unit of resistivity is

. (A) ohm (B) ohm/ meter
(C) ohm—meter (D) ohm / meter?

- i B o ¥ - |
) e (B) o | #rex

114 The splitting of light into its component

~ colours is called as -
 (A) Reflection (B) Refraction
(C) Dispersion (D) Diffraction
Y B SEE TeE O F R wawmn
.

- (A) UTrEE

(B) ouad
(D) fradw

*?LES The PSLV rocket uses -

(A) Only solid propellants

" (B Only monoliquid propellants

(C) Only biliquid propellants

(D) Both solid and biliquid propellants

L NV EE e R

- (A) BIW W YUIEH
~ (B) ¥uw THORE WoiEE
(D) 3 3w T o weiw

: mdlresultln whatsapp - 9352018749 |
116 - Which polymers occur naturally ?

~(A) Starch and Nylon

~ (B) Starch and Cellulose

"~ (C) Proteins and Nylon

(D) Proteins and PVC

- g wghe w9 § o # 7
(A) RE T e

- (B) v ud A

(O W T e

(D) WEH wd e

[PTO.
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The saponification of a fat or oil is done
- using solution for hot
| process. :

?ﬁ%@:%mﬁ%ﬁmw%a@ﬁww
% oo
ElSIE
(A) KOH
(C) HCI

117
.

(B) NaOH
(D) NaCl

Producer gas is mixture of the foiloWi‘ﬁg

Saes T fetalag @ fgo %
(A) CO + NZ (B) C02 + Hza,,;w:?

(©) COy+N, (D) CO+ Hz

Water gas is a mixture of - !
(A) CO and N, (B) CO and H,
() CO and H,0 (D) CO and CO,.
it g e ¥ -

LA) foO g Ny @l
(B) CO T H, @
(€) CO  H,0 &

(D) CO T CO, @

_ jao0
{120

H

Freon group of refrigerants are -
{A) inflammable
(B) toxic

(C) non-inflammable and moderat
toxic

ely

(D) non-toxic and inflammable
ISREAREAR i % ~
(A) ST

(B) faden

(C) svaemdiie et wegm fedem
D) TRl vt soemdw
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Which of the following reactions is not
redox ?

"ﬁﬂ‘lﬁﬁfﬁ é’;aﬁzﬁmm‘ﬂtﬁmﬂ#{

T ?
(A) 2KCIO3 — 2 KCI + 30,
(B) 2KBr + Cl, — 2 KCI + Bry
© BaCI;;_ + NaySOy

— 2 NaCl + BaS0O,

(D) Iy +28,05% - 217 +5,0:>

Brown colour of apple after cuiting is due
0 =

(A) Physical change

(B) Chemical change

(C) No change

(D) Biq]ogiéal change

 HRY ¥ ueEm A9 F O WA sEe

TEEIT T

(A) o uftdw

B) vaEfe ufeds
(C) & fEd =8
(D) ¥ oRectr |

In the reaction 2Na + Cl, — 2NaCl.
the number of electrons released by
46 g of Na is -

@tafsar 2Na +Cl, — 2NaCl  ®

46 mNamaﬁsﬁmﬁWﬂ

\g

T
: indiresult.in whatsapp - 9352018749

(A) 1.024 x10%4

B) 6.023 x 10?3

(©) 1.204 x10%*

(D) 3.01 x10%3

= ' [PT.O.
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124 Which one of the following is an example 126 Deposition of bluish-green colour
of He‘terogeneous ca’falysis ? . substance on copper-utensils occurs due
et & & - Rl S w1 saEw | to the formation of the following :
&7 | o B T T AR w s
(A) 250,(4) +02(g) g A % T F GO whar § 7

NOg) (A) CuCO; |
—_— 2SO 3 (g)
5 (B) Cu(OH),
(B) CH;3COOCH; (jy + H,O
o @M 2 (C) Cu(OH), - CuCO;
-————ﬁ CH;COOH (aq) Cu
+ CH30H ) 127 Which of the following oxides is formed
) N +3H when potassium metal is burnt in excess
(©) Ny(g) * 3Hq) S |
Fe(s) R ug W ot a1g ¥ wEH W
e ) Prevfrfias ¥ ¥ e @ ?
YT STFTES T & 7
(D) Ci2Hpp011 (aq) +HaOp) (4) K70 ®) KO
HpSO4(p) © . ©) KO, (D) K70,
> C6H1206(aq) |
+ C6H1206(aq) 128 The structure of XeF, is -

125 Mark the correct statement forareversxble ~ (A) Square planar |
reaction - - B Tetrahedral
(A) Catalyst catalyses the forward (C) Pyramidal

reaction. (D) Trigonal bipyramidal
-(B) Catalyst affects forward and backward ‘ .
reactions to the same extent. XeFy W dT@ ¥ -
(C) Catalyst catalyses only the backward (A) TTHET THaE
reaction. : ,
(D) Catalyst increases the rate of forward (B) agHHE
reaction and decreases the rate of (©) frtfE
backward reaction.
~ D
. (@) Fr Ay |
(A) TS o st A sAfa w@ET Y |n(.j|resuLt.|n what.sapp - 935%018749
(B) TS o7 T uy" S itk B 129 Which ?blood group is called universal
a9 wW ¥ wahe wer donor
(C) TarE Faw uyg affen = safE WWWW?‘WWWWW
w ¥ 7 L
(D)mwaﬁwmaﬁﬂm% (A) At (B) B*
o uee afiftear @ 9 &W F R (C) AB- (D) O~
] W;mp;ﬁgsmg 2 (pTo.
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130 Which of the following Rice vamety is a 134 How long blologlcal patent remains
popular .biopatent ? effective in India ?
(A) Ponni (B) Rajabhogam |  (A) 15 years (B) 10 years
(C) Basmai (D) Sona Masuri | (O 6 years (D) 20 years
Prerfe & & - R P | O o oot Y O @ 32 g
e SEww §? o TR
. (A) 15 a9 (B) 10 79
@) et (B) TSR © 6o’ D) 20 §
©) Tt (D) @ oAl :
135 Sudden heritable changes in an organism
131 Which disease is caused by deficiency of is called as -
vitamin C ? (A) Breeding
(A) Goitre (B) Scurvy (g) M“tf}ﬁ‘m;- _
(C) Beri-Beri (D) Night blindness | . ED% ‘é‘f:n;‘}’a:;f:zf:n
- ePmcA e e A ¥? vrﬁafrwwﬂwvﬁaﬁaaﬁm%—.
(A) TMEX (B) el (A) TorTT
(©) Th-h (D) Tge wE=g | (B) Tafta
| - (C) ergepfea
132 Approximately how much energy is (D) M| 9T
. transferred from one trophic level to | , , .
- another in an ecosystem ? : 136. Vermicompost is considered to be the best
uw s ¥ e fea R et ecofriendly manure obtained from
@ 9w R/ W Y w7 'cTEET-ITﬁ'd . (A) Ants B) Neme}todes | o
a7 ' : (C) Earthworms '(D) Termites
4 THHHE T GIELT STGRG @E w4
@ 1% ®B% ] oy o e
. (€) 0% (D) 60% @R Y (B) Yaew R
: , : (C) %gaii & (D) 25T
133 Ammonofying bacteria convert 1 7 indiresult.in whatsapp - 9352018749
tar (A) Wastes in to a@oni& : | 137 Emasculation is achieved by
(B) Ammonia to nitrites - ' (A Removal of Anther
(C) Nitrites to ammonia | +/ . (B) Removal of Style
(D) Nitrates to ammonia ’ ~ (C) Removal of Petals
SRS Gﬁ?‘”ﬂ TRafia wa % ( \ (D? Removal o'f Sepals
(A) = B i & Tt W 8
| . (A) T B TR ¥ |
@) ol W Mg A B) AR B TR ¥
(C) TrE2IEzd W emifrar (C) =@ & @ ¥
(D)mzzzw?rw‘rﬁmﬁr (D) ST & F TR T
a1 P @!NPJBE§!-!!:TE . [PTO,
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138 Which of the following microorganism |
yields restriction enzyme ?

(A) E-coli

(B) I-aquaticus
(C) H-influenzae
(D) All of these

ﬁmﬁ%ﬁsaeﬂargﬁuﬁaﬁmm?

o e E?
(A) 3-=ER
(B) E—UgfChy

(C) TE-FATS
(D) T Tl

139 Mendel had also worked on one more |

plant other than pea. That was
(A) Maize /",“ l '
(B) Antirrhinum Shubh
(C) Hieracium

(D) Bean

W%m%mwaﬁrwm‘”

w1 f5anl 98 umy
(A) ARl

(B) ui=g™

(C) ’thmam

O

140 Chromosomes network can not be stained
by
(A) Crystal violet
(B) Haematoxylin
. (C) Carmine
(D) Feulgen stain

o % T B R T w w |

(A) frew aEwe 9
- (B) fevermftm 3
(C) ®BIHM &
(D)Wmﬁ?m%

a1 ://JINDIRESULTE
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141 Producmg new crop vanetles where two

... or more plants of unlike genetic

constitution are crossed called as -

(A) Heterosis

(B) Asexual Reproduction

(C) Mutation

(D) Hybridization

& sgar it P eaifiiesr gea aedl
B B B G B TS e wm Fmiw
HEAA S —

(A) oL

(B) orifiies <

(C) @i

(D) da&Y

.,142‘ Which of the following is not a gaseous

type cycle ?

(A) Carbon cycle
(B) Nitrogen cycle
(C) Phosphorus cycle
(D) Oxygen cycle
et & 4 &9 @& W—W H
o6 T T?

(A) T TH

(B) WIEZNT <%
(C) BIERRE ©h
(D) AiedisTT <%

143 Which Indian scientist was inducted into
the 2016 Hall of Fame ?
(A) B. R. Reddy
(8) U. R. Rao
(C) N. R. Reddy
(D) F. R. Rao
B9 ¥ T deh B 2016 T 1w
%A H ontw Rear e oan?
@A) €. . &E
B) g. aIx. g
(C) . &, &=
(D) T®. IR Ta
indiresult.in whatsapp - 9352018749
[PT.O.
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144 India's first public internet service 148 Which of the following is a system

provider : - : | software ?
(A) Videsh Sanchar Nigam Ltd. (A) Device driver
(B) Wipro Ltd. | 4 (B) Tally
(C) Infosys Ltd. | ~ (C) Spreadsheet
(D) TATA Communicat‘ion Ltd. : (D) Text editor .
mmmmﬁmmwm Prefifea & ¥ S wo faew wiRdm
(A) fy g frm f. ¥ £
Grmw (4) Remew T |
(C) swifw fa. ® = ,
(D) Zrer BigieseT ﬁvr © Bede
145 —____ is used in the physical layer ; ’
of OSI model. o g o) %W b '
(A) HTTP protocol 149 MapDotNet GIS software product works
(B) Coaxial cable on . operating system.
(C) Error detection scheme (A) Windows S
(D) Error correction scheme e (B) Linux
OSImodel & feRvaper ey | (C) Redhat
& AN BT ¥ : (D) Mac
(4) HTTP S | I . o A Wwdm dew
(B) ®Ufes e : _ amPm fem W oem
(©) T feomm wm | - wTd
(D) WX HEHH @ ' (A) fiew
146 What is the name of commercial wing of (B ferr
_ ISRO ? © BE
() Antrix ‘(8) Lunar | D) =
(€ (C) Space (D) DRDO . o -
WU % affas s & w1 AW ¥ | 150 Scatsat-1 is a satellite for _______ . -
(A) afafe (B) T | (A) Communication o :
. ©ww D) & e 3 (B) Education ‘
147 . isan open‘audio compression (C) Weather forecasting £
G (B) Ogg-vorbi e o ’
: _Ogg-vorbis ~ |
© ARAC s Tf,ignVQ , | @qvaazﬁz ml %slcatsat-l)______%am
(A) T 9T TH TE (AIFF) i
(B) sir—ariea (Ogg-\vorbis) / ‘ ®) fran
(C) Whamud (ATRAC) (C) ¥rew qargH
D) ey (TwinVQ) . Ot d T
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